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BMDI-025 : ORTHOTICS (UPPER EXTREMITY) 

Time : 3 hours 	 Maximum Marks : 100 

Note : All questions are compulsory. Marks are alloted against 

each question. 

	

1. 	Very short answer type : 	 5x2=10 

(a) Hand dysfunction 

(b) Splints 

(c) C - Bar 

(d) Wrist drop 

(e) Orthotist 

	

2. 	Explain briefly : 	 4x5=20 

(a) Resting Hand. Position. 

(b) Anti-deformity position of Hand 

(c) Static progressive splint 

(d) Importance of lever in Hand Splinting 
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3. 	Short notes : (any five) 	 5x4=20 

(a) Arches of Hand 

(b) Tennis elbow splint 

(c) Articular splint and non - articular splint 
with suitable examples 

(d) Arm Sling 

(e) Thumb Spica 

(f) Static vs functional Hand Splint 

	

4. 	Long Type Questions : (any two) 	 2x10=20 

(a) Explain the Role of Splints in Rheumatoid 

arthritis. 

(b) Explain wrist driven prehension orthosis. 

(c) Describe airplane splint with schematic 
diagram. 

(d) Write down the pathomechanics of elbow 
fracture and its orthotic management. 

	

5. 	Descriptive type Questions : (any two) 
	

2x15=30 
(a) Write down the mechanical principle of 

Hand splinting. 

(b) Explain balanced fore-arm splints and its 
uses. 

(c) Explain radial nerve palsy and its orthotic 
management. 

(d) Explain Mckibben muscle with schematic 

diagram. 
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1. 	31-f-d r-la3--ff-{-1-zr 	.-t : 	 5x2=10 

(a) h rst-k-hcRil 

(b) -ft:(1:I, 

(c) Tft-c0t 

(d) tfTE Ttl. 

(e) 31.121 

	

2. 	7:f14 ciitstHq1.1 : 	 4x5=20 

(a) -MT 	3-11771171T 31-4T-ZIT 

(b) T2T 	̀e1-f' 4, 1 4i-i a 3-T--4T-qT 

(c) 7:1,f-a-T. 	Rig fizL 

(d) TN .1;1 R-Lcir- ,1 -4 -1---qT .1,1 rcik1401 
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3. 	c 37T174 -579.  : (W)11') 
	

5x4=20 

(a) T2T ct;) 34T (11-) 

(b)  

(c) 311ka1(,R 34R 

-Mg 

(d) 31114 

(e)  

(f) #ftW 	4)c1-1-1e1 T24 .1-, 

	

4. 	3 -t1zf 	 : (eh 	t) 	 2x10=20 

(a) T1-14d.qis 3-172A1Te174 14. 	 1-)1-  

cf-, 

(b) Trtqff 3  ft241fTr-{4 - 

(c) f ry c() 

(d) cril--42,trW9--ITr 3F 	afr-{Q-Fa-w 

	

5. 	3-1t 	---T1-zr 379.  : (-41.t.) 	 2x15=30 

(a) TrzT 11 1 	iRi 	11d, 	 --d-r4 

(b) tM-q9 	R34tpf f 	oqRsqi-i ct.) AT 

---d-r-41 

(c) trr-d#3 34jT2trfc.F #4A14 

(d) 4-R-M air -{R-fq-q aiJh ciA 
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